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<!DOCTYPE html>

<html><head></head><body>

1R REE
<canvas 1d="sim" width="500" height="500"></canvas>

A2 - HLLEEEH @ EEHE 7T
<br>
<span>H7K O EE (cmM2)</span>
<br>

<input type="number" id="area">
<br>

<span>H 7K I (O)</span>

<input type="number" id="angleup">
<input type="number" id="angleup2">
<input type="number" id="angleup3">
<br>
<span>H7K 05 & (cm)</span>
<input type="number" id="h0">

<br>

<span>7K it (cm™3/s)</span>

<input type="number" id="flow">

<br>

<span>#H 2 (rps)</span>

<input type="number" id="spinspeed">
<br>

<span>EE R (Hz)</span>

<input type="number" id="frequency">
<br>

<span>H7K R ()</span>

<input id="angletilt" value="45,60,70,90">
<br>

<span>H 7K B b0 FERE (cm)</span>
<input type="number" id="radius">



G > 7L (ERTET TEEE

<br>

<button onclick="drawpos()">¥&Bh</button>

<button onclick="run()"> T —%I|(1/#EZs)</button>
<button onclick="onesec()">—Fb</button>

<button onclick="showDensity()">& 53 Fh&</button>

FE=C
<script>
75 T T E R A AT E AR =
function v(x){
return x.valueAsNumber;
}

BT —KIRAE
function run() {
clearwater();
time += 1/v(frequency);
spin += v(spinspeed)/v(frequency)*360;
draw();
shoot();
drawwater();

FEIETZ ~ BRGZ R PR [ Fa S HY R =0
function sin(x) {return Math.sin(Math.PI*x/180);}
function cos(x) {return Math.cos(Math.PI*x/180);}

KON E

function draw() {
ctx fillStyle="#{f0000";
ctx.fillRect(245+2+radii[0]*cos(spin),245+2+radii[0]*sin(spin),3,3); ctx fillStyle="#00ff00";
ctx.fillRect(245+2+radii[0]*cos(spin+120),245+2+radii[0]*sin(spin+120),3,3);
ctx.fillStyle="#0000ft"; ctx.fillRect(245+2+radii[0]*cos(spin-120),245+2+radii[0]*sin(spin-12

0),3,3);
}
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function shoot() {
I IEEHIVINE AR LI — K - LG0#kEFx ~ y ~ ZBERERx ~ y ~ 277 a8 /&E
redlist.push(Array(250+radii[3]*cos(spin),250+radii[ 3] *sin(spin),v(h0),vr[0][0]*cos(spin)+vt[0] [0] *sin(s
pin),vr[0][0]*sin(spin)-vt[0][0]*cos(spin),waterspeed *sin(v(angleup)+angleupadd),time));
redlist.push(Array(250+radii[3]*cos(spin),250+radii[3]*sin(spin),v(h0),vr[0][1]*cos(spin)+vt[0][1]*
sin(spin),vr[0][1]*sin(spin)-vt[0][1]*cos(spin),waterspeed *sin(v(angleup)+angleupadd),time));
redlist.push(Array(250+radii[3]*cos(spin),250+radii[ 3]*sin(spin),v(h0),vr[0][2]*cos(spin)+vt[0][2] *
sin(spin),vr[0][2]*sin(spin)-vt[0][2]*cos(spin),waterspeed *sin(v(angleup)+angleupadd),time));
redlist.push(Array(250+radii[3]*cos(spin),250+radii[ 3] *sin(spin),v(h0),vr[0][3]*cos(spin)+vt[0][3]*
sin(spin),vr[0][3]*sin(spin)-vt[0][3]*cos(spin),waterspeed *sin(v(angleup)+angleupadd),time));
for(let 1=0; i<redlist.length; i++) {
if (redlist[i][2]>0) {
redlist[i][0]+=1/v(frequency)*redlist[i][3]*50;
redlist[i][1]+=1/v(frequency)*redlist[i][4]*50;
redlist[i][2]+=1/v(frequency)*redlist[i][5];
redlist[i][5]-=1/v(frequency)*9.81;
if (redlist[i][2]<0){
redlist[1][0] = Math.round(redlist[1][0]);
redlist[i][1] = Math.round(redlist[1][1]);
data.push(Array(redlist[i][0],redlist[i][1]));
}
}
}

I K T2

ctx.fillStyle = "#0000ff";

greenlist.push(Array(250+radii[3]*cos(spin-120),250+radii[3]*sin(spin-120),v(h0),vr[1][0]*cos(spi
n-120)+vt[1][0]*sin(spin-120),vr[1][0]*sin(spin-120)-vt[1][0]*cos(spin-120),waterspeed *sin(v(angleup?2)
+angleupadd),time));

greenlist.push(Array(250+radii[3]*cos(spin-120),250+radii[ 3] *sin(spin-120),v(h0),vr[1][1]*cos(spi
n-120)+vt[1][1]*sin(spin-120),vr[1][1]*sin(spin-120)-vt[1][1]*cos(spin-120),waterspeed*sin(v(angleup?2)
+angleupadd),time));

greenlist.push(Array(250+radii[3]*cos(spin-120),250+radii[3]*sin(spin-120),v(h0),vr[1][2]*cos(spi
n-120)+vt[1][2]*sin(spin-120),vr[1][2]*sin(spin-120)-vt[1][2]*cos(spin-120),waterspeed*sin(v(angleup2)
+angleupadd),time));

greenlist.push(Array(250+radii[3]*cos(spin-120),250+radii[3]*sin(spin-120),v(h0),vr[1][3]*cos(spi
n-120)+vt[1][3]*sin(spin-120),vr[1][3]*sin(spin-120)-vt[1][3]*cos(spin-120),waterspeed *sin(v(angleup?2)
+angleupadd),time));



for(let 1=0; i<greenlist.length; i++) {
if (greenlist[i][2]>0) {
greenlist[1][0]+=1/v(frequency)*greenlist[1][3]*50;
greenlist[i][1]+=1/v(frequency)*greenlist[1][4]*50;
greenlist[i][2]+=1/v(frequency)*greenlist[i][5];
greenlist[i][5]-=1/v(frequency)*9.81;
if (greenlist[i][2]<0){
greenlist[1][0] = Math.round(greenlist[i][0]);
greenlist[i][1] = Math.round(greenlist[i][1]);
data.push(Array(greenlist[i][0],greenlist[i][1]));
}
}

}
ctx.fillStyle="#00£ff00";

bluelist.push(Array(250+radii[3]*cos(spin+120),250+radii[3]*sin(spin+120),v(h0),yr[2][0] *cos(spin
+120)+vt[2][0]*sin(spin+120),yr[2][0]*sin(spin+120)-yt[2][0]*cos(spin+120),waterspeed *sin(v(angleup
3)+angleupadd),time));
bluelist.push(Array(250+radii[3]*cos(spin+120),250+radii[3]*sin(spin+120),v(h0),vr[2][1]*cos(spin
+120)+vt[2][1]*sin(spin+120),vr[2][1]*sin(spin+120)-vt[2][1]*cos(spin+120),waterspeed *sin(v(angleup
3)+angleupadd),time));
bluelist.push(Array(250+radii[3]*cos(spin+120),250+radii[3]*sin(spin+120),v(h0),vr[2][2]*cos(spin
+120)+vt[2][2]*sin(spin+120),vr[2][2] *sin(spin+120)-vt[2][2]*cos(spin+120),waterspeed *sin(v(angleup
3)+angleupadd),time));
bluelist.push(Array(250+radii[3]*cos(spin+120),250+radii[3]*sin(spin+120),v(h0),vr[2][3]*cos(spin
+120)+vt[2][3]*sin(spin+120),vr[2][3]*sin(spin+120)-vt[2][3]*cos(spin+120),waterspeed *sin(v(angleup
3)+angleupadd),time));
for(let 1=0; i<bluelist.length; 1++) {
if (bluelist[i][2]>0) {
bluelist[i][0]+=1/v(frequency)*bluelist[i][3]*50;
bluelist[i][1]+=1/v(frequency)*bluelist[i][4]*50;
bluelist[i][2]+=1/(frequency)*bluelist[i][5];
bluelist[i][5]-=1/v(frequency)*9.81;
if (bluelist[i][2]<0){
bluelist[i][0] = Math.round(bluelist[1][0]);
bluelist[i][1] = Math.round(bluelist[i][1]);
data.push(Array(bluelist[i][0],bluelist[i][1]));
}
}
}
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angleupadd += Math.random();
if(angleupadd > 7) {
angleupadd *=-1;
}
}

FIHAEH KL F &

function drawwater (){

if(redlist.length>=1){
ctx.fillStyle = "#£f0000";
for (let i=0; i<redlist.length; 1++){
if(redlist[i][2]>0){
ctx.fillRect(redlist[1][0],redlist[1][1],1,1);
}
}
}
if(bluelist.length>=1){
ctx fillStyle = "#00£ff00";
for (let 1=0; i<bluelist.length; i++){
if(bluelist[i][2]>0){
ctx.fillRect(bluelist[i][0],bluelist[i][1],1,1);
}
}

}
if(greenlist.length>=1){
ctx.fillStyle = "#0000ff";
for (let i=0; i<greenlist.length; 1++) {
if(greenlist[i][2]>0){
ctx.fillRect(greenlist[i][0],greentist[1][1],1,1);
}
}
}
}

BB KBS,
function drawpos() {



ctx.clearRect(0,0,500,500);
for (let 1=0; i<data.length; i++) {
ctx.fillRect(data[i][0],data[i][1],1,1); }

FRBE— I E]
function onesec() {
for (let 1=0; i<v(frequency); i++) {
runQ;
}
}

TFENRTEERERGE N ENY » L Ocmx 1 0cm 75 B (1] AT 35 PE
function arrangeData() {
trueorfalse = false
datacount = [[250,250,011/ 7 /117577 Al GE B # #5:4 » Hf EFE it 2
for (let a=1; a<data.length; a++) {
trueorfalse = false
for (let b=0; b<datacount.length; b++){
if (data[a][0] == datacount[b][0]&&data[a][1] == datacount[b][1]){
datacount[b][2]++;
trueorfalse = true;
break
}
}
if (trueorfalse){
datacount.push([data[a][0],data[a][1],1])
}
}
graph = [];
for (let i=0; i<100; i++){
graph.push(Array(100));
for (let j=0; <100; j++) {
graphli](j] = 0;
}

}
for (let x=0; x<datacount.length; x++) {
graph[Math.round(datacount[x][0]/5)][Math.round(datacount[x][1]/5)] += datacount[x][2];

}
}
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function printDensity() {
ctx.clearRect(0,0,500,500)
for (let i=0; i<100; 1++) {
for (let =0; j<100; j++){
ctx.fillText(graph[i][;],5*1,5%));
}

function showDensity(){
arrangeData();

printDensity();
consloe.log(graph)

2IRE1E

let datacount = [];

let angleupadd = 0;

let angletilts = [45,60,70,901];

let radii = [0.060,0.072,0.084,0.096];

let spin = 0;

let time = 0;

let redlist = [J;

let greenlist = [];

let bluelist = [];
cvs=document.getElementById("sim");
ctx=cvs.getContext("2d");
ctx.fillRect(245,245,10,10);

data = [1;//data By 2 FEE%]
area.valueAsNumber = Math.round(12 * Math.PI * 100)/100000000;
area.disabled = 1;
spinspeed.valueAsNumber = 2*Math.PI;
spinspeed.disabled = 1;
flow.valueAsNumber = 0.000378;
flow.disabled = 1;

radius.value = "0.060,0.071,0.084,0.096";
radius.disabled = 1;



frequency.valueAsNumber = 137,
frequency.disabled = 1;
let waterspeed = v(flow)/v(area);
draw();
angleup.valueAsNumber = 45;
angletilt.disabled = 1;
h0.valueAsNumber = 0.11;
h0.disabled = 1;
let vhor = [waterspeed*cos(v(angleup)),waterspeed*cos(v(angleup2)),waterspeed*cos(v(angleup3))];
let vt = [[vhor[0]*sin(angletilts[0])-v(spinspeed)*radii[3],vhor[0]*sin(angletilts[1])-v(spinspeed)*radii
[2],vhor[0]*sin(angletilts[2])-v(spinspeed)*radii[ 1],vhor[0]*sin(angletilts[3])-v(spinspeed) *radii[0]],[vhor
[1]*sin(angletilts[0])-v(spinspeed)*radii[3],vhor[1]*sin(angletilts[1])-v(spinspeed)*radii[2],vhor[ 1] *sin(a
ngletilts[2])-v(spinspeed)*radii[1],vhor[1]*sin(angletilts[3])-v(spinspeed)*radii[0]],[vhor[2] *sin(angletilts
[OD-v(spinspeed)*radii[3],vhor[2]*sin(angletilts[1])-v(spinspeed)*radii[2],vhor[2]*sin(angletilts[2])-v(spi
nspeed)*radii[1],vhor[2]*sin(angletilts[3])-v(spinspeed)*radii[0]]];
let vr = [[vhor[0]*cos(angletilts[0]),vhor[0]*cos(angletilts[1]),vhor[0] *cos(angletilts[2]),vhor[0] *cos(a
ngletilts[3])],[vhor[1]*cos(angletilts[0]),vhor[1]*cos(angletilts[1]),vhor[1]*cos(angletilts[2]),vhor[1]*cos
(angletilts[3])],[vhor[2]*cos(angletilts[0]),vhor[2]*cos(angletilts[1]),vhor[2] *cos(angletilts[2]),vhot[ 2] *co
s(angletilts[3]]];
let sumvtr =0
let sumrsqr =0
for (leti=0;1< 3;1++) {
for (et j=0; j<4 ; #H){
sumvtr += vhor[1]*sin(angletilts[j])radii[3-]]
}
}
for (let index = 0; index < 4; index++) {
sumrsqr += radii[index]*radii[index]
}
sumrsqr *= 3
spinspeed.valueAsNumber = sumvtr/(sumrsqr+0.25)

</script></body></html>
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HAKOE BB (m™2) 0.0000377

HAKCNEE)[45 |[60 [75
HAKOSEE(m) 0.11

7K F(m”3/s) 0.000239

#83%(radps) 7.667595045313825

B 5ISEEE(Hz) 137

HAKOERE(°) 45,60,70,90
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